MULTIPLICATION: NEGATIVE DECIMAL NUMBERS (H - SET 2)

TWO DECIMAL PLACES zj o
2 —0.07 x (—4) = 136) 0.1 x 0.1 =
122 —1 x (=0.07) = 131 0 x (=0.9) =
23 0.6 x (—1) = 138) —6 x 0.07 =
129 0.3 X (—=0.6) = 139 0.05 x (=0.3) =
1250 0.07 X 0.6 = 10 0.1 x 0.05 =
1260 (0.05 X 6 = ) =1 x6=
1) =7 x (=7) = 142) —(0.04 x 0 =
128 —0.09 x 10 = 1) —0.9 x (=0.8) =
129) 6 X (_2) — 1) (.9 x 2=
130 —3 % 0.09 = 145 0.0 X 0.2 =
) —10 X (—6) = 16y 0.7 x (=0.1) =
1) 3 x (—=0.2) = 11 0.6 X (—=0.6) =
133 1 x 0.8 = us) —0.7 x 0.03 =
0.7 x (—=0.1) = 19 X (—4) =
135 0.03 x () = 1500 0.09 x 7=
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